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Use  CAPITAL LETTERS in the heading using a 2H pencil. Characters  must be similar in style and size to the following:
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   Write only in the allotted space. Grading will be based on neatness and organization as well as accuracy. Messy work will not be graded.  NOTA=None of the above.
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A ceramic floor, as shown, is 20 ft wide at the base and 10 feet wide at the top. The tiles, 12X12 inches, are to be placed so that each successive row contains one less tile than the preceding row. What is the area of the floor in square feet?
Use sequences for the solution. Take the base as row one.
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Initially, a pendulum swings through an arc of 18 inches. On each successive swing, the length of the arc is 0.98 of the previous length.
a. What is the length of the arc of the 10th swing?
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On which swing is the length of the arc first less than 12 inches?
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